7.6-A Quiz
9 Points Total (See Rubric Below)
DO NOT MARK ON THIS PIECE OF PAPER
Short Answer Question: 9 points possible
“[W]e must make it a national principle that we will not tolerate a large army of unemployed, that
we will arrange our national economy to end our present unemployment as soon as we can and
then to take wise measures against its return.” Franklin D. Roosevelt, Fireside Chat, 1937

“Congress is not permitted to abdicate or to transfer to others the essential legislative functions
with which it is thus vested” Schechter v. U.S., Majority Opinion, 1935

a. Briefly explain Roosevelt’s point of view on the New Deal..

b. Briefly explain the point of view of the Schechter v. U.S. majority opinion on the New
Deal.

c. Identify one reaction, not mentioned in either stimulus, to either Roosevelt’s policies or
the Schechter v. U.S. Majority Opinion.

TOTAL POINTS POSSIBLE FOR SAQ SECTION:9 POINTS

1 point for thesis/interpretation/argument in each of the three answers= 3 Points Total
DON'T FORGET HOW YOUR THESIS IS WORDED. Use superlative words such as “most
important” and “biggest impact” in starting each SAQ answer. Using those kinds of words
makes your opening a thesis instead of a report. You will lose points if you don’t frame your
thesis as an argument and superlatives are the best way of making a thesis NOT A
REPORT.

1 point for specific and accurate evidence (an historic event or concept mentioned by name
in each evidence portion. The more specific the better.)=3 Points total

1 point for appropriate analysis using PERSIA (how does your specified evidence tie to your
thesis/argument/interpretation) USE YOUR PERSIA FACTOR TO EXPLAIN WHY YOUR
ANSWER IS THE MOST IMPORTANT-= 3 Points total
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